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H19 H19. 4 1
5
H20. 4 2
H24 H23 20 11 21
OB 22 2 23
H20. 4 OB 2
H21. 4
OB 5
H20
H19 39.7ha 10,818
9.0ha 1,431
H20 28.3ha 8,616
OB

H20 2.36ha 83
9.0l1ha 14.3

19,000,000 19,000,000 100.0%

0 1 1 1

0 1 1 1

6 6 6 7

6 6 6 7

32 27 20 11

0 0 0 0

5 5 4 5

32 28 21 12

11 11 10 12

0 1 1 1

60 3171 585 8,592
(A) 4,411,980 (3,951,341) 0 0)
(B) 4,359,847 (4,121,442) 0 )
(A)-(B) 52,133 ( 170,101) 0 0)
53782 ( 311,789) 0 )
1000  (100.0) 253 (21.0) 3545 (4,103)
1012 (92.7) 3125 (1716) 40063 (73,447)
25 (3.0) 30 2.9) 4458342 (6,363,741)
1.0 (2.4) 11 (1.4) 0 0)
117 (52.6) 692  (757) 0 0

1.0 (2.0)

3545 (4,103)




(A) 8,335,952 3,951,341 4,411,980
4,885,603 3870914 4,397,156

4,820,864 3,797,085 4,356,884

63,826 73,447 40,063

63,826 73,447 40,063

3,450,349 80,427 14,824

4,845 14,235 14,241

3,444,636 65,743 0

(B) 8,561,307 4,121,443 4,359,847
8,425,967 4,020,737 4,317,540

8,342,155 3,930,726 4,275,156

83,812 90,011 42,384

83,812 90,011 42,384

135,340 100,706 42,307

0 0 0

135,340 100,706 42,307

10,010 11,970 10,933

55,198 41,031 17,495

(C)=(A)-(B) 225,355 170,102 52,133
(D) 3,591,106 0 28,257
) 3,538,982 141,688 26,608
(F)=(D)-(E) 52,124 141,688 1,649
(G)=(C)+(F) 173,231 311,790 53,782
20,384,234 16,696,723 14,034,913

2,503,287 2,221,591 2,163,711

247,906 100,616 108,493

228,506 81,216 89,093

53,106 46,920 42,612

175,400 34,296 46,481

400 400 400

19,000 19,000 19,000

20,632,140 16,797,339 14,143,406

11,378,988 9,727,318 4,491,626

10,804,154 9,473,695 3,875,867

480,834 225,366 615,759

94,000 28,257 0

5,415,567 3,544,225 6,072,202

4,959,437 3,250,287 5,910,863

456,130 293,938 161,339

16,794,555 13,271,543 10,563,828

19,000 19,000 19,000

19,000 19,000 19,000

0 0 0

3,818,585 3,506,796 3,560,578

3,991,816 3,818,586 3,506,796

173231 311,790 53,782

3,837,585 3,525,796 3,579,578

20,632,140 16,797,339 14,143,406




